N=D91\F (7V)=Y4X - REL7)

MBBS
MHBS
MPBS
MBBSL

MHBSL IL
MPBSL

KBBS
KPBS

MBBS - MBBSL
SKD11 #H4

MHBS - MHBSL

SKH51
MPBS - MPBSL

2(min.3)

-0.01
D03

0.3=R=V—P

0 ¢=(3<5)

@3 60 ~ 63HRC Dm5

61 ~ 64HRC Dm5

€D Hk/\ 1 250 64 ~ 67HRC Dm5
KBBS
SKH51 61~ 64HRC CREAD4 ~ 6 Dm5
€ED sKkD1118% @EE 60 ~ 63HRC GREEIDS ~ 10 CEZETIED Dm5
KPBS
#%\1 X3 @EED 64 ~ 6THRC DmS
[ FStehwrd
B H $h%#B87% No. L $BTE 0.01mm BifiL FBTE 0.1mm BfL
Her=r D min.V max. P min. F
7 Wk a— h— 4 1.60 ~ 3.99 1.00
8 (Dm5) 5 0.0 ~ 80.0 1.80 ~ 4.99 1.20
8 9 MBBS 6 N 1.80 ~ 5.99 1.20
11 MHBS 8 (0.1mm Bifi) 210 ~ 7.99 1.50
13 MPBS 10 3.00 ~ 9.99 2.50
7 —WkOLT— 4 1.60 ~ 3.99 1.00
8 (Dm5) 5 500 ~ 80.0 1.80 ~ 4.99 1.20
15 9 MBBSL 6 1.80 ~ 5.99 1.20 F<L—2
P MHBSL 8 (0.1mm Eii) 210 ~ 7.99 1.50
13 MPBSL 10 3.00 ~ 9.99 2.50
7 ] 4 2.00 ~ 3.99 1.00
8 _”%V(E'D_;)*" 7= 5 2.00 ~ 4.99 2.00
8 9 KBmBs 6 40 50 60 70 80 2.00 ~ 5.99 2.00
11 KPBS 8 3.00 ~ 7.99 3.00
13 10 3.00 ~ 9.99 3.00
O:Vv—-P=03

@:Bz=(L—F)+/V-P) (V-P)—(V—P)/4} +2
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@ENT

pEMT [EK Spec.
Bl EERE
80 1mmBifiL
DeRIFEESH0ILETT,
(L—F)+ « +2=BC=BCmax.
a lEIRICE W ER Y ET,
8C | B, = a=+/(V=P) [V=—P)—(V—P)/4]
Vv BCmax
s
3.00~3.99 | 35 | " ¥ v 7 GERARE
4.00~4.99 | 45
5.00~ 60
- VSHRAE +0.01 _ 40.005
@ VKCl % T Vot = o
— ke | ERAE L+03 _ +005
L e 00~ o
:) KC | w/NEBIE ) ik —E T
WKC | 38Y) 1k & F47 50 L (2if)
. YNEERE
JE HC | D=HC<H
" FETEOQ. TmmBLfiL
YNEEE  $EE0. ImmEif
D: @x v 7L
: 2=TC<5 @ £RLIMEETENEETT,
TC TC Py
35=TC<5 @ £ELIZ(5—TC)RELNET,
(TKC-TKMt B D1540.01mmBEAIIEE )

(o]l XD —L—-V—-P—F—E&mMIT
FESZHI |5 MBBS4 — 41 — V2.5 — P1.0 — F38 —

Delivery

A

4 HE#E
(X3 4 HEHEX)

pEMT [HRRX Spec.
YINRRE +0.3 _, +0.02
[ ™z % Th" = "o
.
Tk | LNERE +03 0
Z = 0 —0.02
Y NERCEN T
Tce INSFEEBOBREUPICA ) E T,
TCC | #8E0.1mm#fE 0.5=<TCC= (H—D)/2
—_ O H=5I3TCC 0.5(25HET,
24 SRCHtFAA]
UF—FECH L TYNEE
RC & —0.04~0ICH1 T,
' ODp10n#EA
spe | Y/VEEERL T MU F—F(SLS)ABICIT,
% O D100 H#5EF
I7HELTRY IEL &
H AR M RERY) . RlD SER%E
i M —
Ho =3 | Ac SR s
O=xy72170HEH
Xy IECERERYET,
NG @%@ SUAC £ R
O=x v 751 70HER
= FIEnE +0.3 _ 40.05
. FKC| % FHos _ +0
ﬂ%ﬁ NDC | MAZREL 0=3 - 0=0
=
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